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Diploma Engineering - SEMESTER-I11 « EXAMINATION - SUMMER - 2015

Subject Code: 330701 Date: 02-05-2015

Subject Name: Data Structure Management

Time: 02:30 pm - 05:00 pm

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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What is Data Structure? Explain Primitives & non Primitive Data structure
with example.
Convert the A+B*C-D/E*H expression into postfix notation using stack.

What is FIFO? Write a algorithm to insert and delete element from simple
queue.
What is stack? Explain PUSH and POP operation in STACK.

OR
List the application of STACK. Explain any one in detail.

Write a algorithm to insert new node in singly linked list.

Write a algorithm to delete a node from doubly linked list.
OR

Explain binary search method. Write an algorithm for binary search method.

Write a ¢ Program to insert a node in singly linked list at particular position.

Write a program using C language to sort N number into ascending order
using bubble sort method.
Give the tracing of following list of number using radix sort method.

42, 55, 78, 3, 17, 12, 98, 71, 23, 48, 85, 8
OR
Give the tracing of following list of number using quick sort method.
15, 9, 17, 23, 25, 12, 34, 4, 67, 29

List out the various string operation and Write an algorithm to compare two
strings.

What is Tree Traversal? Explain various tree traversal methods with suitable

example.
Construct a binary tree for the given data. 50, 55, 35, 15, 52, 65, 33, 47,
75, 72 Reconstruct the tree after deletion of the node 35 and 75.

OR
Define the following terms :
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1. Root node 2. Leafnode 3. Sibling 4. Degree of tree.

5. Height of tree 6. Level 7. Full binary tree.
What is collision? Explain collision resolution techniques.
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